50 SENIOR ADVENTURE 2006 <2006><EU><6001F2>
FRONT BRAKE CONTROL
1991

Pos Part Number Description Additional Text Quantity
1 45113101044 Hand brake cylind. cmpl.50 LC 1.00
2 45113002000 HANDBRAKE LEVER CPL. R/S 02 1.00
3 45113012100 BRAKE HOSE FR. SX SEN. LC 02 1.00
4 306054 BRAKE FLUID DOT 4.0 1/4 LITRE 1.00
5 45113004000 PROT.CAP HAND BRAKE CYL. 50 LC 1.00
6 0966030083 OVAL HEAD SCREW DIN0966-M 3X8 2.00
7 45113003000 HAND BRAKE CYLINDER COVER 04 1.00
8 45113009000 GASKET HAND BRAKE CYLINDER 04 1.00
9 45113006000 SPECIAL-AH SCREW M 5X18 1.00
10 45113013000 NUT M5 DIN 6334 1.00
11 45113021000 SPRING FOR HAND BRAKE LEVER 04 1.00
12 45113007000 ADJUSTING SCREW M 3X16 04 1.00
13 0912050103 AH SCREW DIN0912-M 5X10 1.00
14 45113008000 REP.KIT PISTON FRONT 50 04 1.00




